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In the previous Daf the mwn stated as follows:

"2 WO - in order to permit carrying in a mno "an - that is
surrounded by walls on three sides - there are three opinions
about what must be done at the opening;:

Nah Wan

AP MY DWIN RPW 1 - [t requires a side pole AND a cross 55m nea WY 1'3
beam. /T 1) e Y
AP IR M2 IR DM Y 1 - Either a n% or a 77p, but not ,/;///-’ %
both. o | J

)

2 7//’)/

4

N IR M'HR 127 - Itrequires two 'nY's.

The X713 at first entertains the possibility that 71°5x *27 adds
to the opinion of "W m’1 and requires a 77 (cross beam) in

e /mw‘m )

addition to the two poles, since 7158 *27's student 12 "0y 27
R7790 referred to this fix as a CLOSING of the »1an.

The 2 rejects this proof, suggesting that closing just
means

orno2mmob - closing it with poles, but there is no need for a
beam.

Regarding "8nw ma and 550 72 we had a Machlokes in the
Mishnah:

RIPY 77395 TAR 7RO MR HRYHW " Dwn -

A student said in the name of YRy»pw’ "7 before RpY '3 -

Only regarding an opening of between 4 m»r and up to 10
mnR is the Machlokes where

RPW 2 require a nmp N> - side pole AND a cross beam, and
551 ma require only 7P 18’12 X - either a*n> or a 7, but
not both.

However, in an opening of less than 4 m»x Bais Shammai
will agree with Bais Hillel that either a°n> OR anmp is
sufficient.

POMI 5 I HY RIPY MR -

They disagree in both cases.

The Gemara points out that if the opening is less than 4 onov
no ’r> or 7p is needed at all.

At first- an ™
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The Gemara next discusses a 731 which is open to an area
that one may not carry into, such as another 73 that it has not a1 which is open to. ..
joined with in an m73M 217V, or a 0277 MWV,

Another 37

Ortoa. -
DY T

We may not carry even within the 93m unless one of the
following adjusments is made at the opening; 29 N12p Nin
The xnp R0 of the Xn»71 holds
TNR ©H52 NI XN - a single pole would suffice.

. 109 3w1 IR 27 - Rebbe holds two poles are needed - one on
each side.
nww 17 in the name of 29, and j»n 27 pasken like °27 that two
poles are needed.

Two poles Single pole

Y 29
M7 &7

As to the width of each pole -

o1 727 holds that each pole has to be at least three orov "2 The width of each pole...

wide. L
13n 027 - as explained by X711 - holds that one has the option 3 *29 ora
of
7Y2IR2 NNR MI1 - using one post that is 4 o'nov wide , OR
IRIZ I IRIZ WD MM NWH - two posts of any size - one T
on each side. PPONA’
INS% mYaIND
NS5 Y
Shmuel’s opinion on this issue is unclear.
On the one hand, qor 17 said in the name of YXiw that by
TNR ©H2 NI XN - a single post is enough. O/’W"’; &
On the other hand, »2x said in the name of SRw that ) ol
POO WA IR 1917 2172 IR ROX RT1Y 7201 R DX - you shall not Sxvaw @ ” xS/
allow carrying in the 9xn unless there is a wall covering the nanY SN
majority of the opening or two posts. il m;;g?::w\;* ::?R

. A wall covering
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the opening
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At first 9or 27 wanted to support his version of SRmw’s
opinion based on an incident where the ocean knocked down 4 e
the wall of a 9¥n and " 27, Shmuel’s student, only required S

one post. Wanted to support

his version of IRV

Where the ocean /£ -
knocked down the 4 m
wall of a0 48 : f

Studont of

Sop A Y /

The X3 explains that is not a valid proof, because

07101 DI P RSP -
The Chachamim were more lenient in order to provide easier It's NOT a valid proof...
access to water, just like we allow a 1bn nx°'mn - a suspended

. %M - to enable access to water. Only a leniency to

R99 17 and YWY 277 772 RN 27 explain that there is no

. . RHO 1T
contradiction in SXmw's statements. He requires either one YOI 277 7772 RIT 2.
post that is four onov wide, or 2 small posts. NO contradiction in fp’s statementsy
The reason Shmuel said we need 1917217 and not just four myaNa " is:l, " en
omov, is that he was speaking about an opening that is seven Fither one post, OR...

onov wide, of which four o'nov is the majority. 4 DOV wide 2 smuall posts

N
We m//a/;’ F IR

On an opening that ol
is7DMO0 wide gl
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The x o asks that if the opening is only seven o'nov, a board
of slightly more than three onov would suffice to reduce the
remaining open space to less than four o'nov, and we learned
earlier in this 97 that an opening of less than four o'nov need

not be fixed at all?

it
The Gemara gives two answers: We learned eartier, ; “‘1“2“3‘45 ¢l
First, 12152185 9312 8D - only a "12»'s opening of less than im:% 4%5’%;/]” G!
four o'nov does not need to be fixed, but a 93n’s opening of v '
less than four o'nov does need to be fixed. st ond
Second, X’71°Nin 7O "SR 177 - not all o’Rin agree that an
opening of less than four onov does not need to be fixed. NI NS XM IND PO ONN 37

N1 NIR
Losy thaw 4 prl

OTHING! — Less tham # prot
needy N 9 N OTHING!

NAW2 WN PRODH PR AN DINN D PWS 132700 -
In a case where the ocean broke down the wall of the 931, but 32790

the two ends of the wall remained - -\xnb e} mhiafa) ﬂws

If the breach is more than ten m»R, one may not fill water

e 4y ’
. from the water within the 931, because it's considered one DA N i NL)?Q?: T N

with the ocean, and he would be taking from a m51»30to a
TR V.

/_Igare/ ;%%*

Oy’

7oP70

However, he may carry other things in the 93 as long as
73 5 IR - parts of the breached wall that are ten onow
high remained under water.

If the breach in the 73m's wall is ten MR or less, he may fill
water from the water within the 73n, because the opening is
not a breach but a nno - a doorway, and the water within the
mxmn is considered separate from the ocean, and in the mw9

. If the breach is 10 MR or less

One may fill from water
within the 931
o nrev X
Water within the M3'1n,
considered in the 777 MWYI
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1215NNWI ROW M0 TR 27 IR -
A wHon an that has only two walls and is therefore not
eligible for mNan 01w - is not considered a 7m0 Mw. SR TR LI 9 N

12 \BNN KO N30

< e

w0
-
| pom

DW

Ifa pole was placed at one of the open sides - 7x°mn Dwn N5 -
we view the pole as a third wall - and the »an becomes a mw-
7. Therefore,

1IN I -

One who throws something into the »121 from the 0°1797 MW

will be 27n.
Ifanmp is placed over the open side - R0 Dwn 1P - the D TN
beam only serves as a reminder - and the 12 is still not a
. i mwa. Therefore,
N0 1IN PN - N9 WD n-np

One who throws something into the »121 from the 0°1797 Mmwa
will be 7109, p Ly : " .

W " Il B

w LN ' |

¢ <

<

n

TN TR

Rava disagrees and holds 12’1 0w i3t 7781 71 70X - both the
np and the °nY are only a reminder, and do not constitute N9

walls - Therefore, in both cases 1109 19105 P =, mNy q5'm AR - amN
' )

TN TN TN TN
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Of course, a 0ino "an - enclosed on 3 sides - is a 77 MW
even without the °'n5 or 1My, and 271 12105 P

DINO Man

“ Pramon
TN TN

Even withouwt
w nlor 2P

The Gemara also cites the well-known opinion of 7177 17
the Nin that

RIPIIRT MR NV -
. . P 137
2 opposite walls create a 7707 1 7 MW even ina MW

. o,

2 opposite walls create

)e_/)”7/)g;/‘/

Earlier in the 97 we learned that a n2» becomes 1m» with a

n> of any size, while a 731 needs a 0> that is four o'nov wide. L3791 T 97 AN
27 MR AT 27N - i
A 1an that is square cannot become 1m» with a regular 'n% or A Square A Rectangular 731
7P, because a square 121 is considered to be a 73m, which shaped "1an SN Ry

p— AN~
needs a post of 4 1oL, Length Length

. . . . . . C [®
Similarly, if a 73n is rectangular - according to Sxmw with a X double its *slightly more

SO . - inth £ X .
length doub@e its width anFi accordlng to17in the name o width than width
»23m - referring to Xn 7 his uncle - with a length slightly

more than its width - it would be considered a 1a» and only
need a narrow °n% or 7P, and not a four nov post like a I3
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